0002187812187999

o0 LtimEXY 0—e—

2016 4 ¥% 28 1 [

| | EBCFHEOR 0 ZHRLE T PE2OMC EIAzBHD. a2z EROEREL,

w=2z2—2az+1
rsL.
() w2 % z0EH x & a%HNTERE,
(2) Mz CLE—RTBLE, |wl OBMIE a & N TEE.
W |w?=w-
= (22-202+1)(E*-207 +1)
= 22F - 2072 F +F - 202 T+ 4022 E ~202 21 -20F +
= |Z|*-2a2|22 + 2% - 2aF |Z]? +40*2)? - 208 + T2 - 24F + 1
|Zl=2 ©H3 95,
W= 16 ~10a(R+E)+16® +Z+Z*+ 1
DIt EHET2X, B+ (Z+EV 202 = 4x0-8 &Y,
(W= 1T-10a-2% +160° + 42>~ 8

= 4x2-200%x +160%+19 ,

7

(2) ]w["’: 4(1—5‘@)2"?“21'?
“25X22 THINMS
W -2 Tas2 by, ~Fsas £ oaes
[w] @ Fd4E 1. \=9a+9 = 3{|-a2

) Za>2 b5, 0> Fart.

|wlig x=20es Bl {@a-572 = |4a-5] £¢3
i) Fa<-2 Thb5, A< -Fack.

|wllx x=—20kE. g A\E W = |4a+5) &L3
() ~ Gy Y, (Wl o G B 1E

[40+5] (a<-ForF)

Wi-&2 (-tzazfocd)
[40-5] (ﬁ>-§"—mt?)

—_—




